Subject Code : Sc-202 /

MATHEMATICS - 11 |

Full Marks — 70
Time — Three hours

The figures in the margin indicate full marks
for the questions.

PART - A
Marks - 25
1. Fill in the blanks : 1x10=10

(a) Distance between (3, 4) and (9, -1) is

(b) Locus of a point moving at equal distance
from two given points P and Q is the
perpendicular bisector of

(c) The ratio in which x-axis divides the line
segment joining (4, 1) and (3, -5) is

(d) Centre of the circle x> +y* - 10x+8y+1=0
is
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12. (a) Integrate : 3+3=6
(i) Iootz x cosec’ x dx

x+3
CR o ori

(b) Find the limit : 3

lim 1 + 1 5 1 S - 1
=< In+m n+2m n+3m n+nm
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